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Question No. 1

A FYT I el

1) O W Sgefet Y Wl oo’ WA gl ¥

2) A% T IHARF HIUT T g &

3) sU% SfeShIvIT 1 A9 360° BT &l

4) $EF 3RS 0T F AT (n-2) *x 360° e B
A) U 4 B) e 1

C) &ua 3 D) FUT 2

Identify the WRONG statement.

1) In a regular polygon all side are equal.
2) All its interior angles are equal.

3) Sum of its exterior angles is 360°.

4) Sum of its interior angles is (n-2) x 360°.

A) Statement 4 B) Statement 1
C) Statement 3 D) Statement 2
Answer Key : A Your Response : B (Wrong)

Question No. 2




C) WUt D) seAfe Hicld

The IUPAC name for CH3COCHj3 is-

A) Propanone B) Acetone
C) Propane D) Dimethyl ketone
Answer Key : A Your Response : C (Wrong)

Question No. 3

&r 715 ATpTa 7 foraer efer 87
A B
) ) 18
27
SR D)




How many triangles are there in the given figure?

A) B) 18
27
o) 20 D)
23
Answer Key : A Your Response : B (Wrong)

Question No. 4

RIS 65 X 9— X B =S 2§
5

A) B)

64 48

0) D)




‘:.) -
Simplify: 6= X 9§ x 21
3 5 12 3
A) B)
64 48
0 D)
8 16
Answer Key : D Your Response : D (Correct)

Question No. 5

frfaf@a # & R4 2019 F =T #uoT & FFATAT R ar=m ar?

A) 98 car B) SEATSH 38X I[UCIE

C) &2l offel Sl D) =I=Tel SRree

Who among the following was awarded with the Padma Bhushan in 2019?

A) Prabhu Deva B) Ismail Omar Guelleh
C) Darshan Lal Jain D) Nanaji Deshmukh
Answer Key : C Your Response : Not Answered

Question No. 6

AIMEH WIEIRE €397 2017 & #RT & I = A2

A) 135 B) 167

C) 100 D) 149




A) 135
C) 100

Answer Key : C

Sroft s g &

8, 20, 36, 56, (..

B) 167
D) 149

Your Response : Not Answered

Question No. 7

A) 72 B) 64
C) 92 D) 80
Complete the series.

8, 20, 36, 56, (...)

A) 72 B) 64
C) 92 D) 80

Answer Key : D

Your Response : D (Correct)

Question No. 8

FleT W R T PR F T S gelr §?

A) Grefe
C) efdgs

B) aifsa#x
D) weIfsTH

Which of the alkali metals is the smallest in size?

A) Potassium
C) Lithium

Answer Key : C

B) Sodium
D) Rubidium

Your Response : C (Correct)




fFfaf@d # ¥ BF Sl G@RT goar & Jad gde Jerdt & §9 H AT fhar T/ m g7
A) Porle B) fafersied
C) If=T D) Farést

Which of the following has been designated by scientists as the thinnest substances in the
world?

A) Fullerene B) Silicon
C) Graphene D) Quartz
Answer Key : C Your Response : Not Answered

Question No. 10

faw o0 fasedt & @ a8 Ao T4, 3 AR T 1T ST wr @r wear
arl

A) B)

0) D)




Choose from the alternatives the figure that best completes the

pattern given below.

7
A) B)
o) D)
Answer Key : B Your Response : B (Correct)

Question No. 11

SIS YT I Teh SAIST thehl SITAT g, af AEIT3T Sl AT O gler Hr WiR¥erar ar §2
A) 1 B) 0.5

C) 04 D) 0.25

When a pair of dice is thrown, find the probability that the sum of numbers appearing odd.

A) 1 B) 0.5
C) 04 D) 0.25
Answer Key : B Your Response : C (Wrong)

Question No. 12

IeRod 9 & Rl §&Ar F1 G ST W aAl-3R aTell HEAT & IS HEAT o gl T wifdewar




C) 67/90 D) 23/30

What is the probability that a two-digit number chosen at random number is not a prime

number?
A) 21/90 B) 7/30
C) 67/90 D) 23/30
Answer Key : D Your Response : A (Wrong)

Question No. 13

Ife TFH AR Tl FT 890 30% ST Sar § 3T dise g9 W o §, o &5 3k
Rl PAAl F &TTher HT I FT FI?

A) 3: 1 B) 13 : 10

C) 1:3 D) 4:7

If the area of a rectangular plot increases by 30%, and its breadth remains the same, what will
be the ratio of the areas of new and old figures?

A) 3:1 B) 13:10
C) 1:3 D) 4:7
Answer Key : B Your Response : B (Correct)

Question No. 14

I YT (A I e e

(i) g3 qoifer et &

(i) o=t @ 2T WhFAT qERT Hgse BT S wer B

(i) Tl et qoiien o &




(iv) el & T&ar @ W 9GRia & far ST aehdn
A) hdd HUA (iv) B) had &Y (ii)
C) Fad HUT (iii) D) shae &Y (iii) 3R (iv)

Mark the INCORRECT statement(s).

(i) All integers are fractions.

(ii) Fractions are closed under the operation of addition.
(i) All fractions are also integers.

(iv) Fractions cannot be represented on the number line.

A) Statement (iv) only B) Statement (ii) only
C) Statement (iii) only D) Statements (iii) and (iv) only
Answer Key : D Your Response : C (Wrong)

Question No. 15

I 5x/(1 + 1/(1 + x/(1 - X))) =1, aF X' FT AT AT FLI
A) 1/3 B) 2/3

C) 1 D) 5/3

If 5x/(1 + 1/(1 + x/(1 — x))) = 1, then find the value of X'

A) 1/3 B) 2/3
C) 1 D) 5/3
Answer Key : A Your Response : Not Answered

Question No. 16

T A FE A R e dey Y wl At § qof s




C) 100 D) 98

Which number will best complete the relationship given below?

81:16::7:25
A) 26 B) 27
C) 100 D) 98
Answer Key : C Your Response : C (Correct)

Question No. 17

FHFOT Nay,CO3 + 2HCl— & 3cdiar i ggar fifaw)

A) COy + HYO B) NayCO3 +CO» + HyO

C) NaCl + H,0 D) 2NaCl +CO, + H,0

Identify the products in the equation Nao,CO3 + 2HCI—

A) COy + H50 B) Nay,CO3 +CO9 + HyO
C) NaCl + H»0O D) 2NaCl +CO5 + HyO
Answer Key : D Your Response : D (Correct)

Question No. 18

faf@d & & HisT a1 g & Rar 87
A) e B) @I%h
C) o &I Frer D) 9eR

Which of the following floats in water?
A) Coin B) Cork

C) Iron nail D) Stone




Question No. 19
@ 7 & i 3 (foRmie) garT 8 & &7
A) diesr, #AEael ¥ B) o, Argalt @
C) #AEvel, 7= & D) &sI, 8331 &

Which of the following are connected by Ligament?

A) Nerve to muscle B) Skin to muscle
C) Muscle to bone D) Bone to bone
Answer Key : D Your Response : D (Correct)

Question No. 20

P, Q 3R R Rl rF & HAQw: 31191 31eer 10, 12 31K 15 feat &F ¥ @ha &1 9 U 1Y FH
A Y& T § AN 2 el & e P FA el 15 ol §1 F W @ ¥ 3 Rt gger Q &
HH FET o5 AT w1 fraer et 37 Q@ gem?

A) 6 B) 5

C) 7 D) 8

P, Q and R can individually do a work in 10, 12 and 15 days respectively. They start working
together and P leaves after 2 days. Q left 3 days before completion of work. In how many days

was the work completed?
A) 6 B) 5
C) 7 D) 8
Answer Key : C Your Response : C (Correct)

Question No. 21

yerd & g A, O 3aa & Afdse Jo wor anffer ia §, Bae Fee -12 gaewfas & 12
I F RAORT F T e §, FElT gl

A) 3707 FET B) A

C) A D) THaEUTAS(Isotope)




of atoms in 12 g of carbon-12 isotope is known as-

A) Molecule number B) Mole
C) lon D) Isotope
Answer Key : B Your Response : B (Correct)

Question No. 22

TS YA Yoell & fow i a1 [Qef@s ged maeds §2
A) wifeld 3 B) A

C) K D) C

Which vitamin is the most essential for a healthy immune system?

A) Folic acid B) A
C) K D) C
Answer Key : D Your Response : Not Answered

Question No. 23

ieT AT g i QU 1T Haer i FafeersT o1 & qOT Ham?

g9 : 9RAT = e 1 ?
A) TSET ST B) =arg

C) 3made D) oRfr

Which word will best complete the relationship given below?

Square : Perimeter :: Circle : ?
A) Surface area B) Diameter
C) Volume D) Circumference

Answer Key : D Your Response : D (Correct)




# v g & forcar 3maer yarfed grem?
A) 0.5 FHorrs B) 50 here

C) 2 FelFa D) 25 Foled

A current of 5 Amperes flows around a circuit for 10 seconds. How much charge flows past a
point in the circuit in this time?

A) 0.5 Columbs B) 50 Columbs
C) 2 Columbs D) 25 Columbs
Answer Key : B Your Response : B (Correct)

Question No. 25

2T 2T wv Few 31f%% IR fFae sham
A) STHeT B) #Rd
C) 3ireeferar D) OrRrear

Who has won the Hockey World Cup the maximum number of times?

A) Germany B) India
C) Australia D) Pakistan
Answer Key : D Your Response : Not Answered

Question No. 26

e 9 & Qe A "Ter-gier # Fgr sar §?

A) eI 9w B) dfeieiel
C) ST&hesle D) T&arer

Which ball game is also called 'ping-pong'?
A) Table tennis B) Volleyball

C) Basketball D) Squash




Question No. 27

F=faf@a & O F9 aregw § g el @YY avae 9T @s@ asr IEr i g7
A) B) umelr

C) arer D) g

In which of the following media does sound travel the fastest at a particular temperature?

A) Glass B) Water
C) lron D) Air
Answer Key : C Your Response : C (Correct)

Question No. 28

Frfaf@a Aol  equieya wear A fife|

3, 10, 24, (.), 108
A) 63 B) 54

C) 48 D) 52

Find the missing number in the following series.

3, 10, 24, (...), 108

A) 63 B) 54
C) 48 D) 52
Answer Key : D Your Response : D (Correct)

Question No. 29

[ERR, T THR & Yol HAeT @r 1961 # i fhar s/

A) drAGsT B) <ITH HFAT




Award was instituted in 1961 by Sports Ministry of Government of India.

A) Tansen B) Vyas Samman
C) Moortidevi D) Arjuna
Answer Key : D Your Response : D (Correct)

Question No. 30

QEICCIED) H 9T ST gl
A) T B) &3
C) Ted &g D) 9=

Haemoglobin is found in-

A) Blood B) Bones
C) Bile fluid D) Sweat
Answer Key : A Your Response : A (Correct)

Question No. 31

goT SMeTe’l H ¥ fhesh 919 g @l T4 & fAT §g & T 317’0 (coat of spines) giar g2

A) faermerer arsr B) #(Antelope)

C) SRgf¥gr D) #EI(Hedgehog)

Which of these animals has a coat of spines to protect itself?

A) Giant Panda B) Antelope
C) Reindeer D) Hedgehog
Answer Key : D Your Response : Not Answered

Question No. 32
AR FT Y0 §3T SThEN [hT e & foug &2
A) gl B) deels




In which Indian city is the largest post office located?

A) Hyderabad B) Chennai
C) Mumbai D) Bengaluru
Answer Key : C Your Response : Not Answered

Question No. 33

Iy wF fARad Fesmwr 3 'PENSION' & 'NEISNOP' for@r siar &, af 3¢ gesmwr &
'FOLIAGE' &I && for@r smdem?

A) EOIALGF B) EOAILGF

C) EOAIGLF D) EOALIGF

If in a certain language 'PENSION' is coded as 'NEISNOP', how is 'FOLIAGE' coded in that
code?

A) EOIALGF B) EOAILGF
C) EOAIGLF D) EOALIGF
Answer Key : B Your Response : B (Correct)

Question No. 34

oAl arAse # fhaer 7eT an §, e sl a3 Bow Skl 32
A) 9 drR B) AT drk

C) IR dr D) ®8 drR

How many prominent stars are present in the Ursa Major constellation, which has the shape of

a big dipper?
A) Five stars B) Seven stars
C) Four stars D) Six stars
Answer Key : B Your Response : B (Correct)

Question No. 35




A) faara B) 31cT:-370Th

C) JRTIRATIIH D) 3TcRT-310Th
The distance between the particles of matter is called the space.
A) Vacuum B) Intramolecular
C) Interatomic D) Intermolecular
Answer Key : D Your Response : D (Correct)

Question No. 36

T HEA AR Rw TC o A a@ Al ¥ qof i

2:12 ::3:7?
A) 40 B) 38
C) 36 D) 32

2:12::3:7
A) 40 B) 38
C) 36 D) 32
Answer Key : C Your Response : Not Answered

Question No. 37

I fFdr TR W 7.5% 9fa a1 T W 15 A &7 FIERUT AT, 3deil &f IR W 12.5%
¥ T W 8 AL & WURUT U ¥ $.32.50 318 &, a8 TR A hifaw]




C) %.2900 D) %.3060

If the Simple Interest on a certain sum for 15 months at 7.5% per annum exceeds the Simple
Interest on the same sum for 8 months at 12.5% per annum by Rs.32.50, then find the sum.

A) Rs.3120 B) Rs.3000
C) Rs.2900 D) Rs.3060
Answer Key : A Your Response : A (Correct)

Question No. 38

If¢ 'ish Ito inm' &1 IFAUT 'neat and tidy' & 'qpr inm sen' &I AW 'small but neat' §;
'hsm sen rso' & AFAYRT 'good but erratic' &, af 'but' Fr IFUT Fad &2

A) inm B) hsn

C) apr D) sen

If 'ish Ito inm' stands for 'neat and tidy'; 'qpr inm sen' stands for 'small but neat’; 'hsm sen rso'
stands for 'good but erratic', what would 'but' stand for?

A) inm B) hsn
C) qpr D) sen
Answer Key : D Your Response : D (Correct)

Question No. 39

e 0.0169xx =1.3 T, T ‘X' T AT 1 FITo|

A) B)

50 1000




10 100

If \J0.0169%x =1.3, then find the value of 'x".

A) B)
50 1000
0 D)
10 100
Answer Key : D Your Response : C (Wrong)

Question No. 40

S T UH g o 1 @ 50 aF 3F QT av §1 IR & FF aeRes & & g aw g, A=t
ISl T 3k AYH g Hr FIRAhT =T 87

A) 12/49 B) 12/25

C) 23/50 D) 24/49

A set of cards are numbered from 1 to 50. If two cards are selected at random, what is the
probability that the numbers in the two cards are odd?

A) 12/49 B) 12/25

CY 23/50 D)_24/49




Question No. 41

IfE TF FHOT WUROT SAST X 6 asf F qGF 3 T[T gl ¢, of 8 I Bl A 3§ frcem wHy
RE?

A) 15 a¥ B) 22 ay
C) 20 ay D) 21 @y

If a loan grew 3 times in 6 years at Simple Interest, then how much time will it take to grow 8

times?
A) 15 years B) 22 years
C) 20 years D) 21 years
Answer Key : D Your Response : D (Correct)

Question No. 42
fArfaf@a & & fFaa 9RT & TUEHTT & T F G990 ) 37afe gF Jar Yee ar?
A) STATEellel Ag® B) Sfexr amedr

C) ARRST ZaTs D) sf. AqARS &g

Who among the following is the longest serving Prime Minister of India?

A) Jawaharlal Nehru B) Indira Gandhi
C) Morarji Desai D) Dr. Manmohan Singh
Answer Key: A Your Response : A (Correct)

Question No. 43

39 AT & 9949 B, A HAedferad SR i ey @
gafeadd 291 O A% FIar 8l

A=, HG, Hgsl, TUgT

A) B)




0) D)

Choose the figure that best represents the relationship among the
classes given below.
Crocodile, Fish, Turtle, Reptile

A) B)
0 D)
Answer Key : C Your Response : C (Correct)

Question No. 44

59 WA A, Th FIF IR 30 A IR Thy RQw aIw §| 37 Fshst # e, S arfes §7 8
qafers 39gFT g




SIFeT I STt T U TS ¢, THIST F P R S|

sy

|. THISAT FAIESE IS Tellel W g AT hr 370 X Theol &

II. S aer RIRT §T A giee JAT §, 3¢ STl & U A I HGRITHAT JAar grarl

1. 3BT WET WHT 3T TR IWHT, HEdiel S ¥ 37T gl

IV. Stret I Jorell # THIST N FF T FHAT ST
A) FHae ey | 39geEd g B) #da frsed IV 3uyed B
C) Fae fashy Il 3uged Bl D) e fsehy Il 3uged Bl

In this question, a statement is given followed by four conclusions. Choose the conclusion(s)
which best fit(s) logically.

Statement:
Better pay the cook than the doctor.

Conclusions:

l. A cook can expect better payment for the delicious food he prepared.

[l. One who visits hotels regularly does not require to go the doctors.

lll. It is better to keep a good health by taking good food, than to visit a hospital.
IV. Cooks are poorly paid than the doctors.

A) Only conclusion | follows B) Only conclusion IV follows
C) Only conclusion Il follows D) Only conclusion Il follows

Answer Key : D Your Response : D (Correct)




faw =17 Reredt & ® AT F A

A)

0

X\

B

B)

D)

Find the ODD one out from the given options.

A)

o)

X

2

Answer Key : D

B)

()

D)

v

Your Response : D (Correct)

Question No. 46




C) STom$ D) fgars}

Find the ODD one out from the given options.

A) January B) April
C) July D) December
Answer Key : B Your Response : B (Correct)

Question No. 47

faw o7 feedr 7 @ 38 apia g4, = A T v Yed @ war
gl

0




Choose from the alternatives the figure that best completes the

pattern given below.

A) B)
' A
e T-‘M
Vi
O D)
\'4
Q \ 4:1
\J/ ‘ A
Answer Key : A Your Response : A (Correct)
Question No. 48
AT R H TaH el §33T el 9IS Sl 87
A) g H B) e & F e A
C) WH D) #am #

Where is the longest bone in the human body?

A) The thigh
C) Theleg

Answer Key : A

A TH A5 § S AT 3 9§ §7 ¥ ST AW A YeT ;0 A, N A TgT oF I A M| AN

B) The upper arm

D) The arm

Your Response : A (Correct)

Question No. 49




C) 18 ay D) 20 @y

| have a brother 3 years elder to me. My sister was six years when my brother was born. The

average of our ages is 14. How old is my sister now?
A) 19 years B) 17 years
C) 18 years D) 20 years

Answer Key: A Your Response : A (Correct)

Question No. S50

faw =7 fowedt & @ 3T HF A

" »
< -

0 D)

. —

Find the ODD one out from the given options.

A) B)

N -




T —

Answer Key : D Your Response : D (Correct)

Question No. 51

freafaf@d & & 9@ 93 & 9o oa@ "@ear (101)° - 1 qf @ & fsnfaa g seet
A) 10 B) 1000

C) 500 D) 100

Choose the largest number from the following that will perfectly divide (101)° - 1.

A) 10 B) 1000
C) 500 D) 100
Answer Key : C Your Response : D (Wrong)

Question No. 52

SET F Rega-3mace e ¥ S, I8 !

A) TS YT STAT gl Sl & B) $Uls & AY-ATY TAls WX T AT g Sl
3
C) &¥Uls WX STAT gl STl & D) faerder & 3 ST §

During electrolytic refining of zinc, it-

A) Gets deposited on anode B) Gets deposited on cathode as well as
anode
C) Gets deposited on cathode D) Remains in the solution
Answer Key : C Your Response : C (Correct)

Question No. 53




A) ATETSH B) deT
C) g D) BT 3id

Which part of the body will be under examination in an ECG?

A) Brain B) Kidney
C) Heart D) Small Intestine
Answer Key : C Your Response : C (Correct)

Question No. 54

39 W #, ar FYEl & 91g o ARy RQu aw §1 39 @snd Gif) B g S afes & @ qed
39ged gl

hod:
1) @i eifer SrelleT g

2) S FlelleT AE 81 &l

IGL=O R

|. IS A FrelleT AT B

Il. SIS AT AC LT B

A) et sy | 3R 1 39gEd § B) ar @ fshy | & & Il 39ged gl
C) hael fsehy Il 3uged Bl D) del faseny | 3uged ¢l

In this question, two statements are given followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:
1) All shawls are carpets.
2) No carpet is shirt.




I. No shirt is carpet.
ll. No shawl is shirt.

A) Both conclusions | and Il follow B) Either conclusion | or Il follows
C) Only conclusion Il follows D) Only conclusion | follows
Answer Key: A Your Response : A (Correct)

Question No. 55

3 Jelr =S g arem WS, UH WAGH quuT & 4 X A gff W wer 1 3HaE wfafdT FwEr aerar
¢ 3R 3a% Fqe & wlaia fr Gies frash 82

A) 388 8 HIEX &1 gt W 3N Hg & vidfda B) gUur & W& 6 Al i g W 3R Hg &

& digrg 3 T g yfafss & =isg 6 a §
C) 38¥ 4 AKX & gl W 3R Hg & vldfdd D) guor & oI5 8 #Hier & gl W 3R Hg &
& disrg 3 AT B yfafss & =@isg 6 a g

A boy with a mouth 3 cm wide stands 4 m away from a plane mirror. Where is his image and
how wide is the image of his mouth?

A) 8 m away from him and mouth image is 3 B) 6 m behind the mirror and mouth image is

cm wide. 6 cm wide

C) 4 m away from him and mouth image is 3 D) 8 m behind the mirror and mouth image is

cm wide. 6 cm wide

Answer Key : A Your Response : A (Correct)

Question No. 56

39 WA #H, A HYEl F a1¢ A Ay e aw §1 37 ARy @) A g S aifee §7 & g9
39 &l

FYA:
1) Tl wIsfhar 5% ¢

2) ot o5& o ¢




IGL=o K

. wefr wsfrar gev £

Il. $& To¥ R E

A) el SRy | 3T 3uged g B) hdel fosent | 3ugerd Bl

C) hael fosehy Il 3ugerd gl D) & o fosey | &1 €7 1| 39 &

In this question, two statements are given followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:
1) All girls are boys.
2) All boys are males.

Conclusions:
l. All girls are males.
Il. Some males are girls.

A) Both conclusions | and Il follow B) Only conclusion | follows
C) Only conclusion Il follows D) Neither conclusion | nor Il follows
Answer Key: A Your Response : A (Correct)

Question No. 57

afg 20 & 10% + 30 & 20% + 40 & 30% + 50 & 40% = 800 F x% g, X' & AT AT
EDIE

A) 5 B) 8

C) 4 D) 6

If 10% of 20 + 20% of 30 + 30% of 40 + 40% of 50 = x% of 800, find the value of 'X'.
A) 5 B) 8
C) 4 D) 6

Answer Kev: A Your Response_: A (Correct)




fareggdr (stinging nettles) 31 fam=rfaf@a 7 @ Fier ar 3 Al &ar 872
A) WIHF 3T B) wfFes 3

C) creR& 3% D) asfeed 31

Which of the following acids is present in the stinging nettles?

A) Formic acid B) Lactic acid
C) Tartaric acid D) Citric acid
Answer Key : A Your Response : Not Answered

Question No. 59

T qfrd GTEIoT feRM T 3R <Ierem ¢ 3R 1§ 3R ASar g1 W 98 39 918 30X 45° Ha ¢
39 I foRu faRm T 3 Hg A gu &7

A) IR qd B) 3ccX Uifa#

C) afamr qg D) &fgror gfYas

A person moves towards south direction and turns left. Again he turns 45° to his left side. In
which direction is he facing now?

A) North east B) North west
C) South east D) South west
Answer Key : A Your Response : A (Correct)

Question No. 60

gfe 2% = 64, ar (125)Y FT AR AT HL|
A) 1/25 B) 25

C) 1/5 D) 5

If 2% = 64, then find the value of (125)Y.




C) 1/5 D) 5

Answer Key : B Your Response : B (Correct)

Question No. 61

95 P 31X Q ' &F F FAM: 6 3 4 6 F W THa &1 ST P F 7 g9 Wew AT g, 3R
P33Rk Q& a1y 9 ¥ v €< F AU @er Jar §1 & fFde 9899 & - Seen?

A) 3§ B) 6 &
C) 5 & D) 4 ©¢ 30 fieTe

Pipes P and Q can fill a tank in 6 and 4 hours respectively. Pipe P is opened at 7 PM, and P
and Q are opened on alternate hours. In what time was the tank filled?

A) 3 hours B) 6 hours
C) 5 hours D) 4 hours 30 minutes
Answer Key : C Your Response : C (Correct)

Question No. 62

HleT AT SNARA e, ulelt, Faor 3R AF & Folt & Joa 3 o/, g 3N AT gEFFEat
T Sifee RA%oT §2

A) e B) &ear el delfersd
C) LPG D) wrhfaen 3g

Which fossil fuel is a complex mixture of several solid, liquid, and gaseous hydrocarbons mixed
with water, salt and earth particles?

A) Coal B) Crude oil petroleum
C) LPG D) Natural gas
Answer Key : B Your Response : B (Correct)

Question No. 63

T=faf@a & & BFF IIT & 500 fram afssrar 3R wal T $SRUT &7ACT arel T Qiéad TR-Far
TIfd Ples TS 3USIUr &I f=aior = 22




C) NIT &Rk D) T #AgrE

Which of the following IITs has developed a portable solar-powered cold storage device with
500 kg capacity for storing vegetables and fruits?

A) |IT Bombay B) IIT Kanpur
C) IIT Indore D) IIT Madras
Answer Key : D Your Response : Not Answered

Question No. 64
S @ FieT W RN SifSAr AR IRar N Fi F Fr AT F€w §?
A) Sardr B) siaxify
C) fog D) Raufy

Which of these festivals is celebrated with dances like Dandiya and Garba?

A) Baisakhi B) Navratri
C) Bihu D) Shivratri
Answer Key : B Your Response : B (Correct)

Question No. 65

U oA1d I GRT A foRm 3 16 el i qft a7 e 7 2 & o § 3K arr i fAada fowr &
T8 gl T A A 4 B A §l URT ;AT AT F

A) 2 freEeT B) 12 freieer

C) 4 Resieer D) 6 frsi/eer

A boat takes 2 hours to go 16 km downstream; while covering the same distance upstream, it
takes 4 hours. What is the speed of the current?

A) 2 km/h B) 12 km/h

C) 4 km/h D) 6 km/h

Answer Key : A Your Response : D (Wrong)




T &g @, T & q@ I 3R Toreawm Y® fRar 3R 35 #Aex Farn a8 T a5 3T 737 31K 20
#HieT =erm, 3R a8 AR & 31§ 3R 7737 31K 35 #ex =em 3id #, aF 9% AW 7qI;r 3’ 20 A
Tell 3R YT Icaed TAT 0F g1 39 g 9=l NP g & fraedr gy &2

A) 50 #Hrex B) 40 #ex
C) 20 #ex D) 55 #ex

From a point, Raju started walking towards east and walked 35 m. He then turned right and
walked 20 m, and he again turned right and walked 35 m. Finally, he turned left and walked 20
m and reached his destination. How far is he now from his starting point?

A) 50 m B) 40 m
C) 20m D) 55m
Answer Key : B Your Response : B (Correct)

Question No. 67

fRw a1w Aot & @ e @ Gl
A) it B) &germ
C) wfte D) 3msRy

Find the ODD one out from the given options.

A) Cornea B) Medulla
C) Pupil D) Iris
Answer Key : B Your Response : B (Correct)

Question No. 68
g A T W T, R o dear WHE 1 AFG(HCF) At g Tarelr &2
A) 2 B) -1

C) 1 D) 0

Which of these numbers cannot be the HCF of any set of numbers?




C) 1 D) 0

Answer Key : D Your Response : D (Correct)

Question No. 69

S[d & deldl # @i b FAT A §?

A) SId & T3SlgeT HT Gl deld & fov| B) S[d & ®¥ W IEET ¥ e oFh
Tellel & ferv|

C) ©YUT Fl FHF I & ToT| D) &YUT &l delet 3R dgak U6 Yeid Hlad &
fore|

Why are the soles of the shoes provided with grooves?

A) To add beauty to the shoe design B) To make the shoe slide easily on the floor
C) To decrease friction D) To increase the friction and to provide
better grip.
Answer Key : D Your Response : D (Correct)

Question No. 70

ST A Pl O 78 IRTT 9daT Aol F 7 Ao §2
NG B) WA
C) #mwr D) HrE

Which of the following rivers does NOT originate from the Aravalli Range?

A) Luni B) Sabarmati
C) Mahi D) Sakhi
Answer Key : C Your Response : Not Answered

Question No. 71

U oIhsl & g0 FHT AT 20 FFAT x 12 FF x 10 FAT &1 oIhar r A 1 J §1 09 9=
& foT 39T fr ST arell dHsr HT 3RAdT AT o]




C) 519 &3 D) 2400 &=

A wooden box measures 20 cm X 12 cm x 10 cm. Thickness of wood is 1 cm. What is the
volume of wood used to make the box?

A) 960 cm? B) 1120 cm?®
C) 519 cm?® D) 2400 cm?®
Answer Key : A Your Response : B (Wrong)

Question No. 72

gfec 'ENGLAND' #r 1234526 for@r siiar § 3R 'FRANCE' st 785291 for@r siar §, ar
'GREECE' & & for@r simem?

A) 381171 B) 381191

C) 381691 D) 381791

If 'ENGLAND' is written as 1234526 and 'FRANCE' is written as 785291, how is 'GREECE'
written?

A) 381171 B) 381191
C) 381691 D) 381791
Answer Key : B Your Response : B (Correct)

Question No. 73

T&h o & FR AT AT Th HEEN HT Fol SO &T%bel A1 AT, Safd aat Hr B
AR g1 AR doreT Fr Fag shr Ber fr QI 8

A) 8mir2 B) 4mr?

C) 7mr? D) (2nrh + 21r?)

The total surface area of a solid in the shape of a hemisphere mounted on a cylinder both with
equal radius and height of cylinder being twice its radius is equal to:

A) 8r? B) 4mr?

~\ f— " r—. L 2 - ~




Question No. 74

3Meie 39 B § IR #T 3R 6 el =wear § 3T af@or Fr 3R P 4 el =oar g1 3
#, 9g 9REH #T 3R 1.5 frel Ioar 81 3@ 36F @ § IqAr g A7 ¥ 3N 3qer w7 foha faww
T T &7

A) 5.5 T, afdas B) 5.5 fael,
C) 8.5 frelY, afRar D) 7.5 fael,

©
@

Anand walked 6 km west from his home and turned south covering 4 km. Finally, he walked 1.5
km towards west. What is the distance from his home and which direction is his home facing?

A) 5.5 km, west B) 5.5 km, east
C) 8.5 km, west D) 7.5 km, east
Answer Key : C Your Response : D (Wrong)

Question No. 75

Aafaf@a Saar & ead ¥ 9e 3T i e 91w weeT &1 3ca} &)

oq T 9% B Heh arelr ar wAeiay i 7 35§ 9w 9 & v e el 81 9
1 FV, W, X, Y 3k Z gftror #r 3R HJg B 95 §1 9fFa -2 A H, |, J, K 3K L 3/ #r 3R
He FFY 93 1 TS I ET-3769T S & AT JQ-Ted, e, S, g, WR, idle, o,
aISeshive, AshiaTT 3R R gug

K, J & a8 3R et ¥ o1 Sor § 3R 3w sis qde wXar g1 | 3K @rel d@e F O Faa
&Y 9T IS &1 | A TH AT 3 S5 WG A& &1 Z, X & 8P 91T 7 6 dor §1 W = R
§is THg ¢l ormwr 3 §iT Wi ¥, 9% dgesHC s GHG el arer i 3R He R ge ¥l S
3ol SIS UG AT § 98 K & T 86 afed & g% 3K Y T W 98 afdd & e Sor
B X, Y & &F Sora7 F o161 dor 81 L, OF 7 ar vy 3R 7 & 9 95 9dg §, @ de f
INFF AT S gl iRFa F FRT MR R AAKAIR AT I T Y, J FT 3R
He FFI gU SoT FITel HIE TH-g@ & AHA 6T g1 X 3R W & g & 1 O€ §, 3R W voaa
g5 g F a F a8 3N AW T R JoT ¥ A ABHATH F15 TG FT § 96 3G



THh DR 9 JoT g1 J Fl Tt 3 arseshae §is 9ug ofol ¢l 9fad -1 $r @it dic K & a&=
STer & Sif 9o & fRdr off B 9 18T o gl

ffaf@d § & FisT Z & T o1 872
A) | B) L
c) J D) H

Read the following information carefully and answer the question given below.

Ten friends are sitting in two parallel rows of six seats each. One seat is vacant in each row. V,
W, X, Y and Z are sitting in row-1 facing south. H, |, J, K and L are sitting in row-2 facing north.
Each likes different brand of laptops—HP, Lenovo, Dell, Asus, Acer, iBall, Apple, Wildcraft,
Micromax and Harissons.

K sits third to the right of J and likes Asus. Only two people sit between | and the vacant seat. |
does not like Acer or Dell. Z is not an immediate neighbour of X. W likes Harissons. The one
who likes Dell faces the one who likes Wildcraft. The one who likes Dell sits opposite to the one
who sits on the third right of the person who sits opposite to K. X is not an immediate neighbour
of Y. L, who likes neither Acer nor iBall, does not face the vacant seat. Neither K nor J sits at
any of the extreme ends of the row. Y faces J. Vacant seats are not opposite to each other. Two
seats are there between X and W, and W sits on the third right of the one who likes Apple. The
one who likes Micromax faces the one who likes Asus. The persons who like HP and Wildcraft
are adjacent to each other. Vacant seat of row — 1 is not an immediate neighbour of Y. | sits at
one of the extreme ends of the row. J does not like HP and Wildcraft. Vacant seat of row-1 does
not face K who does not sit at any of the extreme ends of the row.

Who among the following sits opposite to Z?

A) | B) L
C) J D) H
Answer Key : B Your Response : Not Answered

Question No. 76




A) g @ B) ¥uel &
C) T@E & D) &g &

'‘Auditory’ sense refers to-

A) Hearing B) Smell
C) Taste D) Vision
Answer Key: A Your Response : A (Correct)

Question No. 77

HRAT TS FiNT GaRT HiAUT FHT Fr AT &r 1936 #, 36F A IS fdaee 7
g&aifad forar arar am

A) ST B) sog
C) eI D) omER

9

The demand for the Constituent Assembly was put forward by the Indian National Congress in
1936 at its session held at-

A) Faizpur B) Bombay
C) Kanpur D) Lahore
Answer Key : A Your Response : Not Answered

Question No. 78

Soft = gt |

23, 24, 52, 183, (.
A) 988 B) 482

C) 764 D) 258

Complete the series.




23,24, 52, 183, (...)

A) 988 B) 482
C) 764 D) 258
Answer Key: A Your Response : A (Correct)

Question No. 79

Ife frelr g & fasa Ao 3R FT {o & T 15: 8 §, ot SfaRia amy A il
A) 62.50% B) 37.50%

C) 52.50% D) 87.50%

If the ratio of selling price to the cost price of an article is 15 : 8, then what is the profit

percentage?
A) 62.5% B) 37.5%
C) 52.5% D) 87.5%
Answer Key : D Your Response : D (Correct)

Question No. 80

T T 3 TF mm E3) =TT X PRHT / SaT T ST 9T<r =TTy
AT / HET T AT TF AR T qA9 gq AT F E
Bk cgl T FLAT & AT H-h" 7T T TR H A5l 330 a9 &4k
AEAT 3§, T °3|'!|_«1T$QMM SHED meﬂ"ﬁ'ﬂr_}lﬂ

A) B)
2 2 a 9
Xty + X -y :
e Bt/
XV 2Xy
0 D)
x'+y <?.
Ea-ricral %a"r/'az'r

X X




Speed in still water is x km/h and that of the stream is y kmm/h. A man
rows a certain distance up and down the stream. What is the average
speed for the journey?

A) B)
<+ YS <2 \ 9
km/h km/h
Xy 2xy
C) D)
2 9 o a
X Ty X" -y
km/h km/h
x X

Answer Key : D

Your Response : D (Correct)

Question No. 81

I sin 2A = 2 cos? A &, ar 'A' &I AT AT H|

(A # 0 3R A ETHIT §)

A) 45°

C) 90°

B) 60°

D) 30°

If sin 2A = 2 cos? A, then find the value of 'A’' (A # 0 and A is acute).

A) 45°
C) 90°

Answer Key : A

B) 60°
D) 30°

Your Response : A (Correct)

Question No. 82

e 7 9 &7, Sier ¢ aife gl &, == sgear &7

A) @ U3 (Vitreous body)

B) 3T &7




The area of the retina where the vision is highest is-

A) Vitreous body B) Blind spot
C) Choroid D) Fovea
Answer Key : D Your Response : Not Answered

Question No. 83

H Sidel & 91 ST S 9mel’ AT forar a1 r 2|

A) YT & Tg B) @iar & g

C) Igel & Ig D) OreRT & Ig

Babur assumed the title of Ghazi after the success of-

A) Battle of Panipat B) Battle of Khanwa
C) Battle of Kabul D) Battle of Ghaghra
Answer Key : B Your Response : B (Correct)

Question No. 84
diceHIeT T 39N AFfa@d & I Faer AT s & v fFar siar 2
A) faega amasr B) ufaRier

C) faega D) fasraiaR

To measure which of the following is a Voltmeter used?

A) Electric charge B) Resistance
C) Electric current D) Potential difference
Answer Key : D Your Response : D (Correct)

Question No. 85

farfaf@a & & g ot 7 free i RIS Qat A arodr Fr IR $r 75 82

A) 2019 B) 2030




In which of the following years is cricket set for a return at the Asian Games?

A) 2019 B) 2030
C) 2020 D) 2022
Answer Key : D Your Response : Not Answered

Question No. 86

HUrs 0T JA9T Ugell IR fhees ganr foRam arar or?

A) JJ. AFEgT B) 3eitc LEIWIS

C) SlieT 3Tecdd D) dMeseerT

The cathode ray experiment was done for the first time by-

A) J.J. Thomson B) Ernest Rutherford
C) John Dalton D) Goldstein
Answer Key : A Your Response : Not Answered

Question No. 87

g% QUi A AfST, st @& & 1/59 [y & 12 3@ Bl

A) 10 B) 15

C) 30 D) 24

Find the integer which is 12 more than its one-fifth part.

A) 10 B) 15
C) 30 D) 24
Answer Key : B Your Response : B (Correct)

Question No. 88

T SONAR # His[g {&T 3U0T AT 8, ST 39T gty & o Hisg awg3it & qfY, farr
3R a1fey &7 e oI & T R ST 37

AN = AN e L= RY 8.8 NP \ W NN, \—




What are the main devices present in a SONAR which is used to find the distance, direction
and speed of underwater objects?

A) Speaker and microphone B) Amplifier and microphone
C) Transmitter and detector D) Amplifier and speaker
Answer Key : C Your Response : C (Correct)

Question No. 89

X S 3 ST T G Reeelr e ¥2
A) 8 B) 6
C) 4 D) 2

The number of electrons in the 2nd period is-

A) 8 B) 6
C) 4 D) 2
Answer Key : A Your Response : D (Wrong)

Question No. 90

15 a¥ q1g U] HT Y, 3TH 5 9§ qF T 3 A 5 IEN g S| TS|, i gAY e
8?

A) 10 B) 14

C) 8 D) 15

The age of Raju after 15 years will be 5 times his age 5 years back. How old is Raju now?

A) 10 B) 14
C) 8 D) 15
Answer Key : A Your Response : A (Correct)

Question No. 91

. N S X LN LXN XY LR\ ae S aNS ~ Py a A




H A 959 S fhder HEg d9em?
A) 30 ©e B) 28 &
C) 20 & D) 24 g&

Two pipes can fill a tank in 20 hours and 60 hours respectively. A third pipe is an outlet pipe. If
all three are opened together, the tank gets filled up in 40 hours. What time will the outlet pipe
take to empty the full tank?

A) 30 hours B) 28 hours
C) 20 hours D) 24 hours
Answer Key : D Your Response : D (Correct)

Question No. 92

U oelesT H g3 AT 80% Bl I FT AT H 20% H g ol &, A T qew T W
9T o F R yRade giar &7

A) T H 30% & FHAT g1 B B) oMe, %T AT & 60% & I g gl
C) o7 & 18% T el gidr &l D) oTsT HHTA I&cT gl

Profit in a transaction is 80%. If the cost increases by 20%, then what is the change in profit
percentage, if the selling price is the same?

A) Profit decreases by 30% B) Profit is 60% of the cost price
C) Profit decreases by 18% D) Profit remains the same
Answer Key : A Your Response : Not Answered

Question No. 93

&Y TEat # F.HG(LCM) 3R AFIHCF), Faer: 441 3R 7 &1 I Seumsit &1 3R/ 14 @,
ar 3% AT AT RS

A) 62, 48 B) 63, 49

C) 64, 50 D) 84, 70

Tha | CM and HOE Af huo numbore aro AAA_ond 7 _If tho nionhare_Adiffar by 1A finAd thair valiiae



C) 64, 50 D) 84,70

Answer Key : B Your Response : B (Correct)

Question No. 94

SIS 34T &2
A) 3 Sfed Sfaw derdf @ el 30ET & B) d Rl H HcI™F g2 8d &
aRafcid e &

C) d TuIveifaid SATRET & gHel & W &d D) d Sifde &Rl 3N BiEhe M & &
gl gl &

What are Enzymes?

A) They convert complex organic substances B) They are highly soluble in water

into simpler molecules

C) They resist the attack of viral diseases D) They are made up of organic bases and
phosphate ions

Answer Key : A Your Response : A (Correct)

Question No. 95

3MTeie; 3T fATer &7 aefeT HAM: 9 : 4 & AU H g1 5 3eig FT adT 15% ¢ ST ¢, o Tg
©.5175 & Sral g1 e &7 dae frcer 82

A) 2.5000 B) %.4000

C) %.4500 D) %.2000

The salaries of Anand and Nirmal are in the ratio of 9 : 4. When Anand's salary is increased by
15%, it becomes Rs.5175. What is the salary of Nirmal?

A) Rs.5000 B) Rs.4000
C) Rs.4500 D) Rs.2000
Answer Key : D Your Response : D (Correct)

Question No. 96




A) e HAIHTFASs B) el SIS3HTFASS

C) 3l D) slseH 3iiarss

Which of the following gases is NOT a Greenhouse gas?

A) Carbon monoxide B) Carbon dioxide
C) Ozone D) Nitrous oxide
Answer Key : A Your Response : C (Wrong)

Question No. 97
S T FTSgIFalNen 31Fel @ dlg & #RG (iron fillings) aTer &1=f 3 ST SeT §, & =T ger §7?

A) gEse T AR IRRA FARBS 3c9ed B) Falkled 3T 3R 3R gEsIFASs  3ced
glar gl g gl

C) gIEalole 3 3R el 3cdeet gidar gl D) BRe FeREs 3T 96l 3cdeaT gl gl

What happens when dilute hydrochloric acid is added to iron fillings?

A) Hydrogen gas and iron chloride are B) Chlorine gas and iron hydroxide are

produced produced
C) Hydrogen gas and water are produced D) Ferric chloride and water are produced
Answer Key: A Your Response : A (Correct)

Question No. 98

farafaf@a SRt F e 9 93 3R Y Re 1w e &1 3] &I

A, B, C, D 3R E aR< &, 3 9 3HeRT-3(el[T HRE & 3949 A g, S9- A, divassey,
dleal, IoT UaX 3R 3 57 FRE F T &, T, e, o 3R & &, oAfha S 76 6 s
%A H @l

i) A & 91 TS §, AfheT I &l w1ET &

i) B & 91 ol 1 dr 9 AR B




iv) E & 9T U el HR g, Al o df GedAssey g 31X o & ear gl
v) ored e & s §, 3 deAssey 1 39T A B

C & U faafaf@a J & i W &R g2
A) aAfGS B) dluAssey
C) & AR D) drear

Read the following information carefully and answer the question given below.

A, B, C, D and E are friends, and they use different cars—Mercedes, BMW, Volvo, Range
Rover and Audi. Colours of these cars are—blue, white, black, red and green, but not
necessarily in the same order.

i) A has an Audi, but it is not green.

ii) B has a red colour Range Rover.

iii) C has a blue car, but not Mercedes.

iv) E has a black car, which is neither BMW nor Volvo.

v) Those who have green car use BMW.

Which of the following cars does C have?

A) Mercedes B) BMW
C) Range Rover D) Volvo
Answer Key : D Your Response : Not Answered

Question No. 99

A F eafar A e Agfeadl # fagga Whdar 7 gRafda #ar §, S &
ATEIH § ATSTSH & T &

A) SquT dfehr B) ©ImoT dfeRr

C) =gy el ATAHT (TUsheh ciTAohT) D) e dfer

Human ear converts audible frequencies of sound into electric signals which travel to the brain




A) Auditory nerve B) Oilfactory nerve

C) Trochlear nerve D) Optic nerve

Answer Key : A Your Response : A (Correct)

Question No. 100
$oTH W el AT AN HACK W 33 &&F 7 Irr ST g2
A) e B) fSRI®
C) gdrr s D) aRars st

Which of these animal is generally found in cold regions?
A) Rhinoceros B) Giraffe
C) Polar Bear D) Hippopotamus

Answer Key : C Your Response : C (Correct)




